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What is Productivity?

O-O=-TD

Praoductivity is expressed or measured as a mathemancal division of fallowing
paramelers (fnctions),

Output / Input = Productivity
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Effective (adj.): Adequate to accomplish a purpose; producing the intended or expected result.

Efficient (adj.) Performing or functioning in the best possible manner with the least waste of time

and effort.

If you want an easier way to memorize the difference, remember this sentence: “Being effective
is about doing the right things, while being efficient is about doing the things in the right

manner.”

Let’ s use a practical example to illustrate the concepts. Suppose that two guys, Mark and John,
are trying to change a flat tire on their cars (each one has his own car).

Mark starts by taking out the jack and placing it under the car. He quite doesn’ t know where to
position it, so he goes by trial and error and wastes a lot of time doing it. After 20 minutes he finally
manages to fix it, so he proceeds to lift the car and change the tire.

As you can see Mark was doing the right thing, but he was doing it poorly. We can say that he
was being effective, but not efficient.

John, on the other hand, starts by grabbing a towel and cleaning the tire. He wants to make the
thing shiny before he changes it. And mind you he is very good and fast at cleaning every little
detail of the tire.

We can say that John is being efficient, because he is cleaning the tire fast and throughly, but he
is not being effective, because cleaning is a step that is not required at all when changing a flat

tire.

Now if we had a third person, Peter, who could change the flat tire using the right steps and
doing it quickly, we could say that he was both effective and efficient.
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